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www.ps.bam.de/VE19/10L/L19EOOFP.PS/.PDF; linearized output
F: Output Linearization (OL) data VE19/10L/L19EOOFP.DAT in File (F)

F(xr) »impulse rate = impulses /%
c=0,4343 Increment process
—2Q[1,0cxr]

-_—

-

7 — - +
~ -
s

’7\

Lp
-4 -3-2-1 0 1 2 3Xr=logLr

VE190-1

F (xr) ,color signal = impulses /s
I-process:  Yellowd

Blue B
Yellowy
Blue b
meanlB

-process:

,===== |-process:
*
*

-process: mearnb

achromatic- and - J-opponent signals
- —2Q[1,0c &r+xp)]
5 Q[1,4c kr+xp)] xp = —logp

——

achromatic + - J-chromatic signals
/)’]' ~2QT35Q¢ &r+xp)]

VE190-7

BAM-test chart no. VE19; response and luminance
Colour space line elements and cone responses
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color signal: amplitude modulation
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color signal: amplitude modulation
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